History Knowledge Organiser - Y4 - Autumn Term %

Carr Lodge

Why do we export from Yorkshire? e
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industrial one. This means that , B
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1712 - The first practical steam engine is invented by Thomas where they were farmers, to eficient factories. Coal was mined = e What was the Industrial Revolution?
. huge cities, where they worked e ' as frade goods. . . . .
Newcomen. Steam would become an important source of 2 : wrought iron that could make large, e How does an industrial society differ from a pre-
. i in places such as factories complex machines. . . .
power for the Industrial Revolution. or mills. It also meant society industrial society?
1761- The Bridgewater Canal opens, the first of its kind in changed from being based on e Bsh Empie xpanded flom o few e What sorts of developments characterised the
Britain. monufccturing by hand and colonies in 1750 to cover a fifth of the world's Industrial Revolution?
. . . . . H land by 19200. Colonies in places such as India, .
1764 - James Hargreaves invents the spinning jenny allowing a :‘;’C”:‘;'; ol %00";‘;:’{”2;’ ,% Ausialle, Canada and South Africa gave Bifsh e How was cotton spun before the Industrial
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worker to produce multiple spools of thread at the same time. ~ dhpigimiraglog b Revolution?
1774 - Samuel Crompton invented the Spinning Mule which e  Why was Arkwright’s invention so important?
revolutionised the industry. The Industrial Revolution - Historians believe there are around six factors that caused the Industrial Revolution. e What were the advantages of spinning cotton in a
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- James Watt patents an improved steam engine making it . . . Seninmi
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useful as a power source in factories , steam boats and trains. o How did a steam engine work?
1801 - Richard Trevithick built the first working railway . Significant People and Places ) o Why was it necessary to burn fossil fuels to power
locomotive. ‘ ' i

a steam engine?
e  Why did the steam engine have such an enormous
impact as an invention?

1803 - Cotton becomes Britain’s biggest export, overtaking
wool.
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quicker and more efficient. canals and waterworks.

transporting heavy goods?

T it e o G London| [ o in The Ragged Schots | [ Th Factry Actwas passe. e Why were barges on canals so much more
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e How did a steam train work?
i 7 . == e Where was the first passenger steam train built?
City of Doncaster e Who designed the first passenger steam train?

Coalmining - Between the 19th and 20th century Doncaster emerged as an industrial centre. Its communication links, particularly its waterways,
meant that Doncaster became extremely busy and saw vast migration to its centre. Underneath Doncaster lies huge natural resource by way of
deep seam coal. It was coal that prompted Doncaster's exponential population growth. The waterways, River Don and Don Navigation were used
to transport coal from Doncaster to the steel production centres at Rotherham, Sheffield and Scunthorpe.

Joseph Wilson Swan invented
the electric lamp.

The Education Act was passed, making
school compulsory for all children between
the ages of five and ten.

The telephone was invented by
Graham Bell.

Karl Bentz invented the automobile. This meant

The London Underground began carrying
that people could travel to places faster.

passengers on electrified trains.

e Why do we export from Yorkshire?

Trains - Transport has played an important role in Doncaster's heritage. The stagecoach trade of the 17th and 18th centuries generated the wealth
that built the town centre. The Industrial Revolution brought the railway to Doncaster, and the Great Northern Railway Locomotive and Carriage
Building Works was established there,







